Harmal – Goa 403524

Examination Fees

F.Y. B.Sc. B.Ed

IInd Semester

ii bemester	
Exam Registration Fees	Rs. 380
I st Appearance Per Paper	Rs. 380
II nd Appearance Per Paper	Rs. 640
Practical Exams Fees Per Practical	Rs. 485
Statements of Marks	Rs. 100
Exam Form	Rs. 75
PCM Group	
Exams Registration Fees	Rs. 380
I st Appearance Per Paper @Rs. 380/per, 08 paper	Rs. 3040
Practical Exams Fees @485/Per, 04 Practical	Rs. 1940
Statements of Marks	Rs. 100
Exam Form	Rs. 75
	Rs. 5535
CBZ Group	
Exams Registration Fees	Rs. 380
I st Appearance Per Paper @Rs. 380/per, 08 paper	Rs. 3040
Practical Exams Fees @485/Per, 06 Practical	Rs. 2910
Statements of Marks	Rs. 100
Exam Form	Rs. 75
	Rs. 6505

Note:- The last date for submission of application for the IInd Semester End Examination is on 16th March 2024.

Ms. Vaishali Parab Convenor - Internal Examination

Harmal – Goa 403524

Examination Fees

F.Y. B. A. B.Ed

IInd Semester

Exam Registration Fees	Rs. 380
I st Appearance Per Paper	Rs. 380
Practical Exams Fees Per Practical	Rs. 485
Statements of Marks	Rs. 100
Exam Form	Rs. 75
Exams Registration Fees	Rs. 380
I st Appearance Per Paper @Rs. 380/per, 08 paper	Rs. 3040
Practical Exams Fees @ 485/Per, 01 Practical	Rs. 485
Statements of Marks	Rs. 100
Exam Form	Rs. 75
	Rs. 4080

Note:- The last date for submission of application for the IInd Semester End Examination is on 16th March 2024

Ms. Vaishali Parab Convenor - Internal Examination

Harmal – Goa 403524

Examination Fees

S.Y. B. A. B.Ed

IVth Semester

Exam Registration Fees	Rs. 380
I st Appearance Per Paper	Rs. 380
Practical Exams Fees Per Practical	Rs. 485
Statements of Marks	Rs. 100
Exam Form	Rs. 75
Exams Registration Fees	Rs. 380
I st Appearance Per Paper @Rs. 380/per, 06 paper	Rs. 2280
Practical Exams Fees @485/Per, 01 Practical	Rs. 485
Statements of Marks	Rs. 100
Exam Form	Rs. 75
	Rs. 3320

Note:- The last date for submission of application for the IVth Semester End Examination is on 16th March 2024.

(Ms. Vaishali Parab) Convenor - Internal Examination

Harmal – Goa 403524

Examination Fees

S.Y.B.Sc.B.Ed

IVth Semester

Exam Registration Fees	Rs. 380
I st Appearance Per Paper	Rs. 380
Practical Exams Fees PerPractical	Rs. 485
Statements of Marks	Rs. 100
Exam Form	Rs. 75
PCM Group	
Exams Registration Fees	Rs. 380
I st Appearance Per Paper @Rs. 380/per, 07 paper	Rs. 2660
Practical Exams Fees @485/Per, 05 Practical	Rs. 2425
Statements of Marks	Rs. 100
Exam Form	Rs. 75
	<u>Rs. 5640</u>
CBZ Group	
Exams Registration Fees	Rs. 380
I st Appearance Per Paper @Rs. 380/per, 07 paper	Rs. 2660
Practical Exams Fees @485/Per, 06 Practical	Rs. 2910
Statements of Marks	Rs. 100
Exam Form	Rs. 75
	Da 6125
	<u>Rs. 6125</u>

Note:- The last date for submission of application for the IVth Semester End Examination is on 16th March 2024.

(Ms. Vaishali Parab) Convenor - Internal Examination

Harmal – Goa 403524

Examination Fees

F.Y. B.Sc. B.Ed / S.Y. B.Sc. B.Ed

IInd and IVth Semester (IInd Appearance)

	Rs. 1195
Exam Form	Rs. 75
Statements of Marks	Rs. 100
II nd Appearance Per Paper	Rs. 640
Exam Registration Fees	Rs. 380

Note:- <u>The last date for submission of application for the II^{nd} and IV^{th} Semester (Repeat) <u>End Examination is on 16th March 2024.</u></u>

Ms. Vaishali Parab) Convenor - Internal Examination

Harmal – Goa 403524

Examination Fees

F.Y. B.Sc. B.Ed / S.Y. B.Sc. B.Ed / F.Y. B.A. B.Ed / S.Y. B.A. B.Ed

$\mathbf{I}^{st}\!,\!\mathbf{H}^{nd}\!,\!\mathbf{H}\mathbf{I}^{nd}\!\,\mathbf{and}\,\,\mathbf{IV}^{th}\,\mathbf{Semester}(\mathbf{H}^{nd}\,\,\mathbf{Appearance})$

Exam Registration Fees	Rs. 380
II nd Appearance Per Paper	Rs. 640
Practical Exams Fees Per Practical	Rs. 485
Statements of Marks	Rs. 100
Exam Form	Rs. 75